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QUESTION 1

Which PacketShaper feature can be applied to the Folder class?
A. Matching rule

B. Partition

C. Policy

D. Outbound/Default classification

Correct Answer: A

QUESTION 2

What is the purpose of a "Traffic Class"?

A. It enforces the policy by normalizing all traffic

B. It applies source routing features for load balancing

C. It identities the traffic type, which allows a policy to be applied
D. It forwards traffic to the Measurement Engine

Correct Answer: A

QUESTION 3

Which three (3) criteria are to be specified in a matching rule? (Select three)
A. Service group

B. Diffserv marking

C. Traffic type

D. SSLURL P

E. Interface

F. VLAN identification

Correct Answer: ABC
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QUESTION 4

Refer to the exhibit.

Which task must the administrator perform to make sure that traffic between (he IAN and DMZ is treated as pass-
through PacketShaper installed as shown?

A. Create a class for LAN-to-DMZ traffic and apply a 100 MB partition to it. ..
B. Create a class for IANto-OMZ traffic and apply a 100-MB rate policy to it.
C. Create a class for IAN-tO-DMZ traffic and apply an ignore policy to it.

D. Configure the PacketShapet to automatically identify Inside and Outside hosts, therefor* no special configuration is
required.

Correct Answer: B
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QUESTION 5

Which module allows an administrator to set bandwidth minimums and maximums, control bandwidth allocation, and
ensure dear streams for voice and video?

A. Acceleration

B. Shaping

C. Monitoring

D. Measurement engine

Correct Answer: A

QUESTION 6

When would the traffic class Inbound/HTTP inherit its policy from another class?
A. When Inbound/HTTP has an ignore policy applied

B. When Inbound/HTTP has a rate policy applied

C. When Inbound/HTTP has a priority policy applied

D. When Inbound/HTTP does not have a policy applied

Correct Answer: D

QUESTION 7

Which statement about dynamic partitions is true?

A. All fixed partitions are converted to dynamic as users become active in a traffic class
B. They can only be configured for the aggregate traffic class

C. Child class partitions, automatically convert the parent class into dynamic partitions
D. The minimum subpartition size is 1024 bps

Correct Answer: A

QUESTION 8
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Why would an administrator configure the failover feature in PacketShaper Guided Setup?

A. To enforce policies to react to a new link speed when the primary WAN link fails

B. To configure advanced system settings, such as Packet Engine, auto discovery, and dynamic partitions
C. To configure PacketShaper for use with WCCP when the primary WAN link fails

D. To schedule commands to execute at a specific time or on a recurring basis

Correct Answer: B

QUESTION 9

Which CLI command will display the current rate and connection information about active hosts?
A. hostdb hosts

B. hostdb accounting

C. hostdb info

D. hostdb show

Correct Answer: B

QUESTION 10

Which option allows an administrator to differentiate Citrix-based applications and protect their performance?
A. Choose Priority 7 from the matching rule\\'s Citrix-specific classification criteria to identify print traffic.

B. Assign the default partition and policy to all parts of the Citrix traffic tree, regardless of application urgency.

C. Enable discovery and let PacketShaper discover the Citrix-based applications, then create a traffic class for each
one.

D. When Citrix applications generate a large amount of print traffic, merge multiple Citrix-based applications into one
traffic class

Correct Answer: A

QUESTION 11

Which option best defines an "unreliable network™ within PacketShaper?
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A. It has NO traffic trees defined in the PacketShaper

B. Its latency is decreased, meaning that the frequency of time-outs and retransmissions spike
C. It offers no guarantees that packets will NOT be delayed, damaged, or lost

D. Its acknowledgments are in UDP, NOT TCP

Correct Answer: A

QUESTION 12

Which control limits the number of simultaneous TCP flows in a class?
A. class licenses

B. policy delay bound

C. system limits

D. policy flowlimit

Correct Answer: B

QUESTION 13

What is required on the network to allow classification of traffic flow by a specific user?

A. Install the Blue Coat Authentication and Authorization Agent (BCAAA) on a separate server.
B. Nothing. Users are automatically discovered by your PacketShaper.

C. Enable Users and Groups on the PacketShaper Setup page.

D. Install the Blue Coat Authentication and Authorization Agent (BCAAA) on your PacketShaper appliance.

Correct Answer: A

QUESTION 14

Refer to the exhibit.
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The Global Intelligence Network Of WebPulse service classifies .1 website as "Entertainment;
Mumor/tokes." The current configuration of PacketShaper has traffic discovery enabled within the Inbound/
HTTP class and has the class tree shown as in the exhibit with WebPulse enabled.

What two (2) classes will the traffic flow into when the client makes a request to the website in question?
(Select two)

A. Inbound/Local host

B. inbound/Entertainment

C. Inbound/HTTP/Default

D. Inbound/HTTP/Entertainment

E. Inbound/Humor_jotes

Correct Answer: AD
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QUESTION 15

Which two (2) actions are most appropriate for controlling prohibited, unsanctioned traffic flows such as music
downloads? (Select two)

A. Set a discard policy to block the traffic

B. Set a never-admit policy to redirect the traffic

C. Set a rate policy with 0 guaranteed, bur*table, at high priority
D. Set a rate policy with 0 guaranteed, burnable, at priority 6

E. Create a static partition for each branch

Correct Answer: AE
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